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Errata 

 
Question Printed Should be 

2001 #12 (E) (1, –1) (–1, 1) 

1996 #11 (B) (1, –1) (–1, 1) 

1988 #23: 
Suppose ( )g x  ... 
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Suppose ( )g h  ... 

0
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g h
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1987 #17 If 2lnx x=  If 2( ) lnf x x=  
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  =  

1987 #29  for 0t >   for 0t ≥  

1984 #15 answer 90 ft/sec 90 in/sec 

1984 #18 interval 0
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1984 #31 Find 
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1982 #13 over the interval 2 2x− < <  should be removed 

1981 #8 Find the area of each of the 
regions 

Find the combined area of the 
two regions 

1981 #11 answer 3  13  

1981 #25 answer 
3

6 8
π
+  3

6 8
π
+  

1981 #31 bounded by 2 1y x= +  bounded by 2 1y x= +  

 


